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BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,388 86,978 41,508 45,470
RIRET1T 5 13 6 7
RIRET2T 27 57 27 30
RIRET3T 175 576 282 294
RIRET4T 386 971 478 493
B 593 1,617 793 824
REH 2,671 6,207 2,912 3,295
L&A 4,228 9,587 4,529 5,058
5E 2,562 6,048 2,945 3,103
B AN 1,265 2,886 1,342 1,544
BERT 1,219 1,886 888 998
BER2T 673 1,313 630 683
BHERST 393 899 442 457
g 2,285 4,098 1,960 2,138
BARE 256 652 329 323
= 2,185 5,234 2,468 2,766
hERE 629 1,471 673 798
e 2,385 5,208 2,509 2,699
25 L ET 2,237 5,125 2,455 2,670
B &AL BT 80 167 67 100
HEFILET1T 569 1,239 584 655
HEFILET2T 619 1,370 645 725
HEZFILAT3T 605 1,420 697 723
g 1,873 4,196 1,993 2,203
B & it B Fr ET 686 1,665 801 864
BHEREBET1T 613 1,254 596 658
BHERERET2T 762 1,764 861 903
BHERERETST 768 1,663 755 908
HERERET4T 454 989 483 506
HEHFMHETST 816 1,688 798 890
HEHFHET6T 873 2,012 965 1,047
HEFRET7T 839 1,882 903 979
HERERETST 71 215 100 115
£t| 5196 11467 5,461 6,006
HEF R FET 1,830 3,965 1,937 2,028
S|EFET1T 569 1,521 758 763
S|EFET2T 767 1,845 875 970
S|EFET3 T 707 1,411 661 750
g 2,043 4777 2,294 2,483
ERE1T 559 1,334 636 698
EIRET2T 388 1,025 513 512
EREIST 467 1,317 637 680
EIRETAT 695 1,539 705 834
EIZEIST 476 995 504 491
g 2,585 6,210 2,995 3215
MEH 2,763 6,336 3,007 3,329
J\THET1T 34 38 14 24
J\THET2T 25 63 30 33
J\THEI3T 57 128 61 67
B 116 229 105 124
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